S BEE MBI EEERELESFTHE
(LA D) (BAfr - M)
— —F TEAR | WRETE | R i =
= % 4,800, 000 4, 806, 000 A6, 000
\ BROE 4,800, 000 4, 806, 000 A6, 000 BRELE(500/ X 124 H X80044)
FILTE Y 4 2,000, 000 2,002, 500 A2, 500
TR 576, 000 576, 720 AT720| 720 X 80044
A 2 7R B 1,424,000 1,425,780 A1,780] 1,780 X 8004
HMEA 300, 024 300, 024 0
M A 300, 024 300, 024 O  Fem B TR e SRSy, ST S — 32 bty
e 1,367,951 1,716,467 /348,516
KX 1,367,951 1,716,467 348,516 AIFENALOMEEE
& i 8,467,975 8,824,991 A357,016
(ZH DHER) (Bpr - M)
— ‘ — TEA | wrTE | B 1 =
BREE 4,270,000 4,572,604 A302,604
=R 280, 000 480, 000]  A200, 000
DR 200, 000 400, 000]  A200,000| EPHERAEIKE
ST 80, 000 80, 000 0 HMESERFEIRIH
% B % 2,890,000 2,862,604 27, 396
W B 1, 740,000 1,712,604 27,396 BRI
B F4 750, 000 750, 000 of BRSELTY
HE & 400, 000 400, 000 0f HafrpklEEFAERE%
= 1,100,000 1,230,000 A130, 000
ISENRE 30, 000 30, 000 0|  HEIX - IR P O THE ik
2B 80, 000 80, 000 0| ‘BT B
TE BT 870, 000] 1,000,000 A130,000| i, SMERIK, LA SR i
A A 120, 000 120, 000 0f HIXEPESEM CERARES3TH X 80044 4y B de)
BB IR 2,040, 000[ 2, 040, 000 0
HEREE 1,440,000 1,440, 000 0
HEMREE 20, 000 20, 000 0| AT ~OBHLI
HE 250, 000 250, 000 o HEr57 ., B¥EsST eERS AR B S
HEFERE 20, 000 20, 000 0| HBEHIDDDEL LS
% % % 50, 000 50, 000 o SUESERRERAR, 271y MERR (PR it
R R OV 50, 000 50, 000 0| 1EFEPTASEE kS
e R OsE ] 4 350, 000 350, 000 0 A PEBHE ATl 5 S B2 (4001 X 80044) il
T B S SR 100, 000 100, 000 0| BEAS TGRS
FERRELE 600, 000 600, 000 0| FHBRERSSGENEE
& 600, 000 600, 000 0
[ 75 2 250, 000 250, 000 o XEAEAMEREUE
I 2 o B 2 350, 000 350, 000 Of [IFEAE X EA
R 80, 000 80, 000 0
[E B AT it B 80, 000 80, 000 0 [EBSASFiHESN 58 IR T2 i %
M () B R 0 0 of ( THEkD AT —) AEEHOR)
FILTE Y 4 2,000, 000 2,002, 500 A2, 500
AR 576, 000 576, 720 AT20| 720 X 8004
H A ARz 1,424,000 1,425,780 A1,780| 1,780F X8004
TAHE 77,975 129, 887 A51,912
\ T i & 77,975 129, 887 A51,912
& &t 8,467,975 8,824,991 A357,016

BABOWMA. MEIeREoREICENRS,

TRBH L & SR KR BRI S5 T E (BT - )
I A T A AR TR B AR A (IR | A B L & HIAE GLiA) |4 5 AR Ak (Lid)
’%i%f*ﬁ 1,327, 838 12 0 1,327, 850




